23

6.10.52

11l .
1200 = 7,10,52 1 * (7invw) 1vaamy avaz (1
12 = 13w (2
(a372) wprasm 01173 17910 Mravan = 2tepina 14 (3
T31epik: 20 = A1y = apIa (1
.u:ﬁ Fr1243 = Pr¥3 T133% A3vop ¥TI0 JIm 16
"1%a,3 BY¥3737 137 ,A%3171773 VUHFIA 33D TN ATy 18 - 17 - 16 (6
AT joivD
- ©*313p7 RI¥ID j01=vad (7
avieabprrive = 313vvp Lr*nima Laang (8
1353 nawa nvyvay = *33070 (9
100,000 j¥viEY A3vDl .
Yowna jray: p196? @ oqo0yr N {10
j1etp miatsy atyiy [Ieriae yram Tivw (1
p*?an = A3vp319wo von (12

#TIIEF 103D f]&


http://www.tcpdf.org

